
  1 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



  2 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

Exploded view – K/M 1808/2408 

 
 



  3 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

 
Exploded view – F 1808/2408 

 



  4 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

 
Condenser filter 
 
 
 095 - 336 336 - 

 
 
 
 
Wall rails/supports 
 
 
 095 - 019 019 - 

 



  5 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

 
F 1808/2408 – control panel 
 
  095-155 155-019 019- 

 
 
Controlpanel closure 
 
  095 – 269 269 -  



  6 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

 
Doors, worktops 
 

 



  7 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

 
Bracket for saladette lid 
 
 
  095 – 235 235 - 

 



  8 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

 
Control panel 

 
 



  9 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

     week/year week/year  
Item no. Description  Gram part no. compiled deleted  
   

Essential spare parts 
   
  Refrigeration system: 
 
  K/M 1808 - K 2408: 
 
 1 Compressor TL5CNK  502900000 095  
 2 Start device  453050151 095   
 3 Cover  452440293 095   
 4 Cord relief  452440300 095   
 5 PTC cover  452440290 095   
 
  M 2408: 
 
 1 Compressor NL9CNK  502900006 095 
 2 Start device  453050151 095   
 3 Cover  452440293 095   
 4 Cord relief  452440300 095   
 5 PTC cover  452440290 095   
 
  F 1808: 
 
 1 Compressor SC15CNX  502900003 095 
 2 Start device  453051001 095 
 3 Cover  452440280 095  
 4 Cord relief  452440292 095   
 
  F 2408: 
 
 1 Compressor SC18CNX  502900004 095 
 2 Start device  453050041 095 
 3 Cover  452440280 095  
 4 Cord relief  452440292 095   
 
  Common parts: 
 
 6 Rubber bush  760080519 095  
 7 Clip for compressor fastening  760082367 095   
 8 Compressor fan F 765071150 095 
 
 



  10 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

     week/year week/year  
Item no. Description  Gram part no. compiled deleted  
 
 10 Condenser  765080400 095 
 11 Condenser fan motor  612900002 095 
 12 Fan guard  765080209 095 
 13 Fan blade ø172 mm  612900199 095 
 14 Filter drier  765080156 095   
 15 Wire for fan motor  612900401 095 
       
 16 Evaporator complete  762117883 095 
 17 Evaporator  765080370 095 
 18 Heat exchanger  765080323 095 
 19 Evaporator fan  765071150 095 346 
 19 Evaporator fan  765071193 346 460 
 19 Evaporator fan  765071150 460 122 
 19 Evaporator fan  765072086 122 
 20 Temperature sensor  453531504 095 
 21 Defrost heater 300 W  765071837 095 511 
 21 Defrost heater 300 W  765072063 511 
 22 Overheat safety thermostat  765071836 095 511 
 
 
  Doors: 
 
 30 Door gasket  762110221 095  
 31 Hinge, top right/bottom left  762115301 079   
 32 Hinge, bottom right/top left  762115300 079   
 
  Saladette lid: 
 
 42 Gasket  1808 762110293 095 
 42 Gasket 2408 762110292 095 
 
  Control panel: 
 
 45 Electronic control, display part   612900050 095  
 46 Band cable  453582047 095 
 47 Electronic control, power part B1+ 761256118 095 
 47 Electronic control, power part B2+ 761256131 095 
 47 Electronic control, power part F1+ 761256113 095 
 
 



  11 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

     week/year week/year  
Item no. Description  Gram part no. compiled deleted  
 

Other spare parts 
 
  Cabinet: 
 
 60 Cross brace  762117776 095   
 61 Compressor base plate  762117725 095 
 62 Compressor compartment cover  762117713 095  
 63 Front panel filter  762110370 095 019 
 64 Spacer for wheel H=50 mm  762110345 095   
 65 Screw M8x20  422715070 095 516  
 65 Screw M8x12  420050100 516   
 66 Screw M8x65  422715071 095   
 67 Cover for evaporator compartment  762117730 095 
 68 Fan plate  761114700 095 
 69 Appliance inlet  451022002 095   
 70 Re-evaporation tray  762117751 095 
 71 Condenser filter  762110371 095 
 72 Attachment spring  762110375 095 336 
 72 Velcro strip  761258973 336 
 
 75 Lead and plug DK 3-pin  765070161 095 358 
 75 Lead and plug DK 3-pin  765072555 358  
 75 Lead and plug Schuko  765070162 095 358 
 75 Lead and plug Schuko  765072554 358  
 75 Lead and plug Switzerland  765070163 095 358 
 75 Lead and plug Switzerland  765072569 358  
 75 Lead and plug GB  765070164 095 358  
 75 Lead and plug GB  765072553 358   
 
 76 Shelf, stainless 530x325  765080395 095   
 77 Support rail  761114537 095 019  
 77 Support rail  762110450 019   
 77 Support rail, left Bakery 761114377 095 019 
 77 Support rail, right Bakery 761114378 095 019 
 77 Support rail, left/right Bakery 762110448 019 
 78 Wall rail, front  762110410 095 019  
 78 Wall rail, front  762110440 019   
 79 Wall rail, back  762110412 095 019  
 79 Wall rail, back  762110442 019   
 79 Wall rail, h=73 Bakery 762110413 095 019 
 79 Wall rail, h=73 Bakery 762110443 019 
 79 Wall rail, h=43 Bakery 762110414 095 019 
 79 Wall rail, h=43 Bakery 762110444 019 
 
 



  12 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

     week/year week/year  
Item no. Description  Gram part no. compiled deleted  
 
 80 Fan guard  764138517 095 
 81 Cover plug for M5  765080501 095 
 82 Evaporator cover  761114690 095 
 83 Evaporator suspension, right  761114689 095 
 84 Evaporator suspension, left  761114688 095 
 85 Plate for evaporator suspension  761114710 095 
 86 Air relief valve  765081206 095 
 87 Front panel close latch  761253307 095 269 
 88 Front panel close keeper  761253301 095 269 
 88 Front panel magnet  761253312 269 
 89 Leg, stainless H=130-200 mm  765080115 095   
 89 Leg, stainless H=180-250 mm  765080116 095   
 89 Leg, stainless H=230-300 mm  765080117 095   
 90 Castor wheel H=127  480260100 095  
 90 Castor wheel H=155  480260102 095  
 91 Castor wheel with brake H=127  480260050 095   
 91 Castor wheel with brake H=155  480260052 095   
 92 Plate for compressor fan F 762117728 095 
 93 Elbow pipe  461430060 095 
 94 Front panel filter 175x360  762110372 155 
 95 Front panel filter 240x360  762110373 155 
 96 Air duct K/M1808 762117698 095 
 96 Air duct 2408 762117699 095 
 97 End plate for air duct K/M 1808, K/M/F 2408 762117695 095 
 98 Compressor compartment backplate 762117716 095 
 99 Clip nut M5  765080565 095 
 
 150 Control panel complete  762117874 095 019  
 150 Control panel complete F 762117874 095 155 
 150 Control panel complete F 762117875 155 019  
 150 Control panel complete  762117882 019  
 151 Label for electronic control  765040641 095 
 152 Junction box  762117771 095 
 153 Spacer L=8,3mm  765080021 095 
 154 Hex. nut M3  421092003 095 
 
 



  13 

Gram Commercial 
Technical information 

765041024 

Description : 
Spare parts list for Gram Gastro 08 

K/M/F 1808/2408 CSG 
Compiled. Latest revision. Discontinued 

Date Name Date Name Rev.no Date Name 
28.01.05 JP  20.09.12 JP 019   

 

     week/year week/year  
Item no. Description  Gram part no. compiled deleted  
 
  Doors : 
 
 200 Door, left/right  762110716 095 079  
 200 Door, left/right  762110711 079   
 200 Door, left/right w/lock  762110718 095 079  
 200 Door, left/right w/lock  762110714 079   
 201 Cover plug  762110281 095 
 202 Spacer for hinge  762110383 095 
 
 203 Locking set complete  761114676 095  
 204 Lock fitting  761114665 095  
 205 Locking pin  761114666 095  
 206 Lock type Euro-lock B472  765080322 095 
 207 Key A151  765080399 095 
 
  Worktops: 
 
 300 Worktop, level 1808 762117558 095  
 300 Worktop, level 2408 762117574 095   
 
 301 Worktop, splashback H=50 1808 762117561 095   
 301 Worktop, splashback H=50 2408 762117577 095 
 
 302 Saladette 1/3 GN 1808 762117563 095  
 302 Saladette 1/3 GN 2408 762117579 095   
 
 305 Bracket for lid, left (replacement set)  762117921 095 235 
 305 Bracket for lid, left  762115332 235  
 306 Bracket for lid, right (replacement set)  762117921 095 235 
 306 Bracket for lid, right  762115331 235  
 307 Screw M5 x 12  420340110 095   
 308 Hinge pin  762115327 095 
 309 Plug  760250272 095 235 
 310 Nylon slide  760081307 235 
 
 311 Lid for saladette1/3 GN 1808 762115403 095  
 311 Lid for saladette1/3 GN 2408 762115402 095   
 
 312 Plexiglass lid 1/3 GN 1808 761112651 095 
 312 Plexiglass lid 1/3 GN 2408 762115450 095 
 
 313 Insulating insert 1808 762117556 095  
 313 Insulating insert 2408 762117572 095   
 
 314 Worktop bracket  761114163 095   
 315 Attachment screw  422658001 095 
 
 


